Chapter 12 Additional SPSS exercise
Using the data from the table below carry out a standard multiple regression. Coping and support are the explanatory variables; life satisfaction is the criterion variable. The higher the score, the higher the coping, social support and life satisfaction.

	Participant
	Life satisfaction y
	Social support x1
	Coping x2

	1
	26
	16
	14

	2
	26
	13
	16

	3
	24
	12
	14

	4
	16
	8
	13

	5
	20
	10
	15

	6
	21
	10
	10

	7
	33
	7
	11

	8
	25
	15
	13

	9
	21
	10
	14

	10
	7
	4
	8

	11
	20
	10
	12

	12
	22
	11
	15

	13
	23
	12
	11

	14
	24
	10
	12

	15
	28
	14
	17

	16
	24
	12
	14

	17
	32
	16
	16

	18
	22
	11
	16

	19
	21
	10
	16

	20
	22
	12
	14

	21
	25
	13
	12

	22
	20
	10
	12

	23
	27
	14
	13

	24
	17
	8
	13


SPSS exercise answer

You should set up you data file as we have done in the image below:
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To carry out the analysis, you should click on Analyze, regression, linear and set up the dialog box as we have done below:
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The output is below:
	Variables entered/removedb

	Model
	Variables entered
	Variables removed
	Method

	dimension0
	1
	coping, supporta
	.
	Enter

	a. All requested variables entered.

	b. Dependent variable: lifesat


	Model summary

	Model
	R
	R square
	Adjusted R square
	Std error of the estimate

	dimension0
	1
	.681a
	.463
	.412
	4.02050

	a. Predictors: (Constant), coping, support


The above output shows that R = .681, and the amount of variance explained by coping and social support today (in the sample) is 46.3%. The adjusted R square is .412, so generalising to the population, 41.2% of the variation in scores on life satisfaction can be accounted for by coping and social support together.

	ANOVAb

	Model
	Sum of squares
	df
	Mean square
	F
	Sig.

	1
	Regression
	293.046
	2
	146.523
	9.065
	.001a

	
	Residual
	339.454
	21
	16.164
	
	

	
	Total
	632.500
	23
	
	
	

	a. Predictors: (Constant), coping, support

	b. Dependent Variable: lifesat


The analysis shows us that this is statistically significant at p=.001.
	Coefficientsa

	Model
	Unstandardized coefficients
	Standardized coefficients
	t
	Sig.
	95.0% confidence interval for B

	
	B
	Std. error
	Beta
	
	
	Lower bound
	Upper bound

	1
	(Constant)
	7.146
	5.272
	
	1.356
	.190
	-3.817
	18.110

	
	support
	1.172
	.355
	.635
	3.299
	.003
	.433
	1.911

	
	coping
	.188
	.466
	.078
	.403
	.691
	-.781
	1.158

	a. Dependent variable: lifesat


The strongest individual predictor variable is social support. For every one standard deviation increase in social support, life satisfaction increases by .64 of a standard deviation. The confidence intervals are both positive, showing that the slope of the population regression line is likely to fall between .433 and 1.911. Coping, on its own, does not significantly predict life satisfaction. The confidence intervals are wide (encompassing zero) and the probability level is p=.69.
